Potencias de 10 (J)

611000

91000

1310

81100

51100

24 10

100100

85+ 1000

7-+10

74 1000

Calcule los siguientes cocientes.

21 =10

39100

6510

79100

231000

100 =100

5210

591000

52100

29100
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Potencias de 10 (J) Respuestas

61+ 1000
0.061
91000
0.009
13+10
1.3
81100
0.81
51100
0.51
24 +10
2.4
100 <100
1
85+ 1000
0.085
7+10
0.7
74 = 1000
0.074

Calcule los siguientes cocientes.

21 =10
2.1
39100
0.39
65+ 10
6.5
79 +100
0.79
23+ 1000
0.023
100100
1
52+10
5.2
59 +1000
0.059
52100
0.52
29100
0.29
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